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The figures in the margin indicate marks of question 
Candidates should answer in their Own words 

1. 

and adhere to the word limii as practicable 

HISGDSEO2T-HIsTORY (DSEI) 

(b) Who was James Watt? 

Answer any ten questions from the following: (word limit 30 cach) 

(a) What do you mean by 'Putting out' system? 

(c) Who was James Hargreaves? 

GROUP-A /fs 

(d) Mention two inventions that were essential to the Industrial Revolutions. 

(e) Who was Dr. Edmund Cartwright? 

() What is factory-based production system? 

(g) Mention two causes that interrupted initial industrial growth in France. 

(h) Who was Friedrich List? 

(i) Mention two results of the Industrial Revolution. 

) Who wrote Mary Barton: A Tale of Manchester? 

5317 

(1) Who were the Luddites? 

(k) In which year was the first Factory Act Promulpated by the British Pariaea) 

(m) Name two leaders of the Chartist Movenent in Britain. 

nmorialc. 
(IBRARY) oswar Kollksa 

Full Marks: 50 

2410= 20 

Turn Over 



CBCS/B.A./Programme/5th Sem./HISGDSE02T/2022-23 

3 

4. 

S. 

6. 

7. 

9 

(n) Mention any two books written by Karl Marx. 

11. 

(o) What was New Impirialism? 

5317 

GROUP-B/f5st 

Answer any fwo questions fromn the following (word limit 250 each) 

What is Proto industrialization? 

Write a short note on the relationship between mercantilism and capitalism. 

Discuss the main ideas of the Physiocrat. 

Write a short note on Zollverein. 

How did Napoleon lII encourage the growth of industry in France? 

GROUP-C /-s 

Answer any fwo questions from the following (word limit 500 each) 

Discuss the economic growth in England before the Industrial Revolution. 

Explain the importance of commercial revolution as a precondition for 
industrialisation. 

10. Discuss the role of the state in Russian industrialisation. 

How do you explain industrialisation in France? 

How did industrialisation create a new working class and trade unionism? 
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5x2 = 10 
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